simulated PM, ¢/PM;, simulated PM, /PM;,

simulated PM, ;/PM;,

1.2

1.0

0.8

0.6

0.4

0.2

0.0
1.2

1.0

0.8

0.6

0.4

0.2

0.0

1.2

1.0

0.8

0.6

0.4

0.2

0.0

(a ) ESSMVZ (b) CESM2 (c ) EMAC
1 I M B 1 1 PEETE EEE 1 1 PR R
Tsim ALL Vean — 02 e T sw ALL Mean 050 A= 659 Tsm ALL Vean 0T R 652 [
{ s CSNMean_O78R=050 L ] sIM_CSNMean= 0.67R= 0.61 ] siM“csNMean = 0.32R = 0.33 I
{ SIM_EMP Mean = 0.72 R = 0.60 L { SIM_EMP Mean= 0.56 R= 0.64 { SIM_EMP Mean = 0.45R = 0.33 i
7 SIM_SAF Mean = 0.39 < SIM_SAF Mean = 0.31 7 SIM_SAF Mean = 0.15 5
] SIM_JPA Mean = 0.56 a § i ] SIM_JPA Mean = 0.54 OQ b d ] SIM_JPA Mean = 0.29 |
- o 7 © [ e /. ] [
2 s = : - s 2 [
SN | 0 °® ] "~ i
] A [ e @ o _ /@ [
a - o0 [ a ) [} _ a =) & [
E a 8%~ L E e v _ Y g_ L
oD w_ @ - g @09 _ e © a . a2 -
J o ‘_‘ O | j Q . O - / -~ v ’. - \i |
] A - © o . ] ©° ceo & |
1 - @ _ i 1 Y a_ =/0 ® o e i
° oo : ce0 o e® o ¥, :
P I - _ 0 . o .8 o I
- _ P w _ - - . 4 ‘U v - o A =
@ ¥ o @ i "0 @ o ok a 02 0 o [
e © Uo e a® o
L I \l/! L I MR | I I N LI I
(d) EMEP (e )leu (f) INCA
o o o o oo o a1 1 1 M P
Tsm ALLMean—082R=061 [ Tsm ALLMean—O 4B5R= 050 Tsim. ALLMean—072R 0.45 [
] siM“csNMean = 0.82R = 0.82 L ] sIM_cSNMean= 056 R= 0.37 ] siM“csNMean = 0.70 R = 0.65 I
{ SIM_EMP Mean = 0.85R= 0.73 Lt { SIM_EMP Mean= 0.39 R= 0.42 { SIM_EMP Mean = 0.74 R = 0.53 i
< SIM_SAFMean= 045 _ __ - <] SIM_SAF Mean = 0.34 - SIM_SAF Mean = 0.48 -
] SIM_JPA Megg 0.79 a®_ab 3 [ SIM_JPA Mean = 0.46 - : SIM_JPAMean = 081 _ o /g [
] a 4 ] o] - ] o _ ® " [
 J Q ~ e @e L P a®%/ O
] as 0/ @9 [ ] ® . ] a¥ -/ e T [
v 8 ®e [ i @ a” i - Y o [
- - (@] - - - - - _ o -
] o C ] e® @@ ] ®  00%g6 o [
] - [ e o/e e ©0 ] 0 [
] e e © [ 2 ®© ] o/ °_. ® [
- _ - ® - O - e 9 © () -
g a/ 0@ -~ - g e._ a0 ¥ ¥ g -
] e/ & e [ ] - ~@ © ] - .
] e % ® o0 L] %% o ] L I
T L HELILLAN B LN BN B
(9) OS|OCTM2 L (h) OS|OCTM3 L 0.0 02 04 06 08 1.0 1.2
Tsm ALL Moan 0T R 066 T sim AT Wean =038 Fe 068
] sIM_CSN'Mean= 046 R = 0.65 i ] sIM_CcSNMean= 040R = 0.72 observed PM, s/PM;,
{ SIM_EMP Mean = 0.37 R = 0.48 L { SIM_EMP Mean = 0.38 R= 0.49
- SIM_SAF Mean = 0.04 - <] SIM_SAF Mean = 0.02
] SIM_JPA Mean = 0.07 ° ] SIM_JPA Mean = 0.10 OBS_ALL Mean = 0.70
b ° (‘é - % OBS_CSN Mean = 0.82
{ ¢ | o OBS_EMP Mean = 0.71
e “ I es =
. e °% o - 1 N e° & OBS_SAF Mean = 0.56
] s ® [ ] e ® OBS_JPA Mean = 0.57
] e © L] o
2 I o
| () e L ] o 9
] ® - L a e -
] ) ) [ e® _ ®
- - °} - < e a
1 ® 0 = ! 1 B ¥ o
@ o B _ a - E e .eX™O0
A X AP = L ] > o @ ®

0.0 02 04 06 08 1.0

observed PM, s/PM,,

1.2

00 02 04 06 08 1.0

observed PM, 5/PM,,




